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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&
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1)	 (i)	 Give an example of a pentose suger.
		  {H$gr EH$ noÝQ>mog eH©$am H$m CXmhaU Xr{OE&

	 (ii)	 Write the name of a heteropolyssachride which is a 
naturally occurring anticoagulant. 

		  EH$ Eogo hoQ>oamonmbrg¡Ho$amBS>g H$m Zm‘ {b{IE Omo EH$ àmH¥${VH$ 
à{VñH$ÝXH$ h¡&

	 (iii)	 Who gave lock & key hypothesis?
		  Vmbm-Mm~r {gÕmÝV {H$gZo à{Vnm{XV {H$¶m?

	 (iv)	 Give the names of various types of teeths present in 
human.

		  ‘Zwî¶ ‘| CnpñWV {d{^Þ àH$ma Ho$ Xm§Vm| Ho$ Zm‘ ~VmBE&

	 (v)	 What is Residual Volume?
		  Ad{eîQ> Am¶VZ {H$go H$hVo h¢?

	 (vi)	 Where does Ornithine cycle carried out in vertebrate?
		  H$eoé{H$¶m| ‘| Am°a{Z{WZ MH«$ H$hm± gånÞ hmoVm h¡?

	 (vii)	What is heptan?
		  hoßQ>oZ ³¶m h¡?
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	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 3.5 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&

2)	 Write a note on significance of Proteins.

	 àmoQ>rÝg Ho$ ‘hËd na boI {b{IE&

3)	 Explain the factors which controls enzyme action.

	 EÝOmB‘m| H$s g{H«$¶Vm H$mo {Z¶§{ÌV H$aZo dmbo H$maH$m| H$m dU©Z H$s{OE&

4)	 Draw a longitudinal section of human heart.

	 ‘mZd öX¶ Ho$ AZwX¡¿¶© H$mQ> H$m {MÌ ~ZmBE&

5)	 Explain biological functions of blood.

	 a³V Ho$ O¡{dH$ H$m¶m} H$m dU©Z H$s{OE&

6)	 What is neuro-muscular junction? Explain with the help of 
diagram.

	 V§{ÌH$m noer¶ g§¶moOZ ³¶m h¡? {MÌ H$s ghm¶Vm go g‘PmBE&

7)	 Differentiate between Innate and Acquired Immunity.

	 ñdm^m{dH$ VWm Cnm{O©V à{Vajm ‘o AV§a ñnîQ> H$s{OE&

8)	 Explain transmission of Nerve impulse across synaptic 
junction.

	 V§{ÌH$m AmdoJ H$m ¶w½‘mZw~ÝYZm| Ûmam àofU H$m dU©Z H$s{OE&

9)	 Describe various type of antigen-antibody Reactions.

	 {d{^ÞàH$ma H$s à{VOZ-à{Vajr {H«$¶mAm| H$m dU©Z H$s{OE&
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	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
7 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 Write note on 

	 (i)	 Chloride shift

	 (ii)	 Respiratory Quotient

	 boI {b{IE
	 (i)	 ³bmoamBS> ñWmZmÝVaU
	 (ii)	 ídgZ ^mJ’$b

11)	 Explain Mechanism of Urine formation.

	 ‘yÌ {Z‘mU© à{H«$¶m H$m dU©Z H$s{OE&

12)	 Write note on 

	 (i)	 Reflex action

	 (ii)	 Adrenal Gland

	 boI {b{IE
	 (i)	 à{Vd{V© {H«$¶m
	 (ii)	 A{Yd¥³H$ J«pÝW

13)	 Describe menstrual cycle.

	 aO MH«$ g‘PmBE&


